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Todd Schrader

Problem Statements

1. Sketch a curve with the vector equation r(t) = (t -1, 2t2>‘ Use a tangent vector to determine

the direction of the curve as t increases.
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2. If (t) = (tcos(t),4sin(t)) represents the position of a particle at time ¢, find the velocity,

s
acceleration, and speed of the particle when t = 3
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3. Find a unit tangent vector to the curve r(t) = <2tf_t, t£> when t = 2.
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4. A curve has parametric equations = = 1% — 5t, y= 2. SIOPC - = = —1 = _i
)ZHVl A}(

(a) Find an expression for the slope of the tangent line to the curve, where it is defined.
d
kS
= % - ) dj _ S/Jf

-
—-—

dx
d+
é‘z: 2t
dt

(b) Find Cartesian equations of both tangent lines to the curve that pass through the point

(0,5).
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(¢) Find the points where the tangent line to the curve is horizontal or vertical.

‘.., < l. K:,tg' {‘(’
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5. The graph of the parametric equations x = (6 — sinf),y = r(1 — cosf) is called a cycloid.

(a) What are the coordinates of z and y when 6 = 07
X= r(O—sw(°)>: r-o = 0O (9,0)
yz r(l-ese)= r(-)= 0

(b) Show that this cycloid has a vertical tangent at the origin.
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6. The position of a particle is represented by f(t) = , t > 0, where t is measured in

249
seconds and f(t) is measured in feet.

(a) Find the velocity at time t.
2 —(9¢ _ .

—

&y EA T @y /s

(b) What is the velocity after 1 second?

_ 8l - q(,)‘l. _ /3 ~ o7 ‘W’
V())/ Q'-,_cD‘L— = ot 'i )00 ( /S

(¢) When is the particle at rest? de,-fry = O
Q-9 gl < 94
(£ 9= 4r

Bl-7*= 0 t=13

(d) When is the particle moving in the positive direction? V(‘\‘-'-) >0
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(e) Find the total distance traveled in the first 6 seconds. Positan

% —0="
E&) _ /2 L>.3/7_

k)= T t |
* 149 § o
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t = 2 s o
Ui = -9 3 /g . 2 / /0

~

,t1.+ = : 4 3
(t*+1) 3 \s%G% /D,g.m ’i*%‘

(f) Find the acceleration at time ¢.
a®= v = DGR (@0 206y @t 89— @]
(¢-49)" Ty =

_)B‘ts— lolt — 30y +36‘t} 3
= 184°— 486t _ /8t (£L_2’7>

_—
-

3 2 —
(£59) (=+y (=+9)
(g) When is the particle accelerating in the positive direction?
alt) >0 )9t (#-29) (1) (°)
EE— Y o] S t
= z o]
Q a) =0 G’- +1U q(—t) ("‘) (’_) JE{__}_X_,)
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tz=0 t'=217 -3+ Jﬁ Actelpration @ (’]’%
(h) V\"hcué the particle speeding up? m o fesitive Dreetlon * (ﬁ’; ) N>

Spod V2.

)0 vit)< o
a ok La = (3, @) (

a(t) > alt)c 0

(i) When is the particle slowing down?

Slovong: L[D, 2) (Jf')[ 0)
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7. If a tank holds 5000 gallons of water, which drains from the bottom of the tank in 40 minutes,

the Torricelli's Law gives the volume, V', of water remaining in the tank after ¢ minutes
2

1
according to the formula: V' = 5000 (] - E!) L0 <t < 40.

(a) Find the rate at which water is draining from the tank after { minutes.

% = e 2Ry
— |oo00 </' ?Iw‘-) _ — 250© C/_ %f)
—4o ‘/

V /
(b) Find the rate at which the water is draining after 5, 10, 20, and 40 minutes.

Vis) = ~ueos

V ’(/ °)

(]

- 187.5

1]

V’(""’) Tz —IL§
V'(9) = ©

o

(¢) At what time is water flowing out the fastest? The slowest?

t<o L=Yo
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8. A ball is thrown vertically upward with a velocity of 80ft/s. TIts height after ¢ seconds is

s = 80t — 16¢°.
(a) What is the maximum height reached by the ball? When 15 lMt“"“/ =e

(b) What is the velocity of the ball when it is 96t above the ground on its way up? On its
way down? P‘3 s¥on =O & \Iﬂ:) =0
(¢) With what velocity does the ball hit the ground? °
— 70
()  ve)- g@) = ®e-k w4 Vi) <o
.e: 8/0 = —lﬂ < ;
3 T

Bo- 324=0 80 = 22¢
Fud bt whan Y =D maximim Laight

s()= 80(5)-1b(E) - e LI T VI
-

= 290 —,90 -;
(k) b= BOL-Att On Fo vy up On e w.,ew.\
Jett -B0¢ + 96 =0 t-2 t=3
lb (t* - 5¢ +6) =0 WD) = %o -32(y) v(®) = 8o-32(33)
e (£-D)(e-3) =0 = 8 ¢ = ®- 9
Ler t-3 = /"0 46 ’W

(e) O = 80t - /bt
Jbt* - 8ot <O V() = 80 - 32(s)

It (t-5) zo = Bo - /wo
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